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Jiidi—:
filt: WIS X AN PIEEARIE.
110X+80X=570

190X=570
190X=+190=570+190

X=3

% &3t 3N A
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fitf: W&RE X AN/ PR ZEAHE .
(110+80) X=570
190X=570
190X 190=570+190
X=3
% a3V ZEAHIA.

JivE=:
570+ (110+70) =3 (/)
e &0t 3 AN/ EEAHIE .

2. BU#T P82 A 12 fil
JiE—:
fit: LER/AITAT X T2Ko
68X 3. 5+3. 5X=455
238+3. 5X=455
238+3. 5X-238=455-238
3. 5X=217



3.5X+3.52217+3.5
X=62
e LHFE/NNAT 62 TK.
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filt: LHB/NEAT XK
(68+X) X3.5=455
(68+X) X3.5+3.5=455+3.5
68+X=130
68+X—-68=130-68
X=62
% LEBNIAT 62 ToK.

T =
455-+3.5-68=62 (k)
& LHERNBHT 62 T K.

3. BUFT P82 TS 14 fil
JiE—:
fift: W OMEEDIAT X TK.
18X-32. 5X 18=57. 6
18X-585=57. 6
18X-585+585=57. 6+585
18X=642. 6
18X+ 18=642. 6+18
X=35.7
% LWYE/NRTAT 35. T ToK
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fitt: W LMEER AT X TK
18X (X-32.5) =57.6
18X (X-32.5) +18=57.6-+18
X-32.5=3.2
X-32.5+32.5=3. 2+32. 5
X=35.7
% OWYRR/NIAT 35,7 ToK

=

T =
57.6=18+32.5=35.7 (%)

e OWYER/NIEAT 35. 7 F2K.



